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IEALl £ 4 OUT] IN TOTAL HDCP| NET [/00vA IR 4 OUT] IN TOTAL HDCP | NET
36 36 72 36 36 72

1 ik BF 40 40 80 9.6 70.4 22 [l FEAR 43 42 85 9.6 75.4
2 T LBv| 37 39 76 4.8 71.2 23 |&HM Eid | 48 49 97 21.6 75.4
3 |AM FHE 42 40 82 10.8 71.2 24 |2 T 47 43 90 14.4 75.6
4 |THE @M | 37 35 72 0.0 72.0 25 |PE TEE | 44 45 89 13.2 75.8
5 |am Em | 45 47 92 19.2  72.8 26 |tFAf EEF| 45 48 93 16.8 76.2
6 |&EA EfE | 48 50 98 25.2 72.8 27 /NIl FEF| 50 47 97 20.4 76.6
T 1Al T 41 40 81 7.2 73.8 28 |FEEF A 50 53 103 26.4 76.6
8 [WEF HidAv 35 39 74 0.0 74.0 29 [#EIL AT 52 44 96 19.2 76.8
9 A B=E 44 42 86 12.0 74.0 30 [ KT 47 48 95 18.0 77.0
10 K& B 46 46 92 18.0 74.0 31 |fH FE&T| 50 55 105 27.6 77.4
11 |FRA FEFE | 43 48 91 16.8 74.2 32 /hSF AT | 51 47 98 20.4 77.6
12 |Mhm F& | 45 46 91 16.8 74.2 33 |JEE =R 44 52 96 18.0 78.0
13 [InfE  BAsE 51 52 103 28.8 74.2 34 |IBFMA P+ | 46 54 100 21.6 78.4
14 |7 L 50 52 102 27.6 74.4 35 Ik BEF 44 43 87 8.4 78.6
15 |m=fn & 46 43 89 14.4 74.6 36 |l HF 51 52 103 24.0 79.0
16 [ E EH 48 47 95 20.4 74.6 3 |KE BT 48 54 102 22.8 79.2
17 | 5% BT | 49 51 100 25.2 74.8 38 |AM =R | 50 50 100 20.4 79.6
18 |FEE AR 47 46 93 18.0 75.0 39 |IH BT 50 58 108 27.6 80.4
19 [FE HZ=EF| 43 37 80 4.8 75.2 40 B =T 53 49 102 20.4 81.6
20 | B IEE 43 43 86 10.8 75.2 41 [1thd EfEF| 53 57 110 26.4 83.6
21 | K& £ 45 47 92 16.8 75.2 42 |F A%F| 59 58 117 30.0 87.0




